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B {3z K 4 OUT IN GROSS HDCP NET REsEH| JEHRL K% ouT IN GROSS HDCP NET
1 R #A 41 36 77 0.0 7.0 O 51 Al FHx= 42 47 89 0.0 89.0
2 B E@ 40 37 77 0.0 77.0 O 52 AR & 44 46 90 0.0 90.0
3 HiIE Hx 39 39 78 0.0 78.0 O 53 &HE AR 43 47 90 0.0 90.0
4 THH 9&52 38 40 78 0.0 78.0 O 54 HHE 0l 46 44 90 0.0 90.0
5 &I B 40 39 79 00 79.0 O 55 ARH #EE 45 45 90 0.0 90.0
6 LEH Hi‘%)ﬁ 41 39 80 0.0 8.0 O 56 FHE EE 43 47 90 0.0 90.0
7 #HE f@EKEE 40 40 80 0.0 8.0 O 57 AKX B#E 41 49 90 0.0 90.0
8 Wa EBER 39 41 80 0.0 8.0 O 58 FH{HK FE 41 50 91 0.0 91.0
9 BEKRK E}h 37 43 80 0.0 8.0 O 59 @Il FT|iE 43 48 91 0.0 91.0
10 AXRXK § 43 38 81 0.0 8.0 O 60 JIIR fEX 46 45 91 0.0 91.0
11 =f & 39 43 82 0.0 8.0 O 61 L sh— 46 45 91 0.0 91.0
12 BEF IEA 40 42 82 0.0 820 O 62 /M BIX 46 46 92 0.0 92.0
13 #a & 41 41 82 0.0 8.0 O 63 FAK E#HX 47 45 92 0.0 92.0
14 BH £H 40 42 82 0.0 820 O 64 2L &4 49 43 92 0.0 92.0
15 L% Jt— 39 43 82 0.0 820 O 65 FHE #Eih 42 50 92 0.0 92.0
16 {k4ME B 37 45 82 0.0 820 O 66 =W &R 43 49 92 0.0 92.0
17 [ $A 42 41 83 0.0 8.0 O 67 L@ == 49 43 92 0.0 92.0
18 Kfg Eif 41 42 83 0.0 830 O 68 MH #BHE 49 43 92 0.0 92.0
19 AR BE=8F 42 42 84 0.0 840 O 69 #HE [E5h 48 44 92 0.0 92.0
20 JKH B 41 43 84 0.0 8.0 O 70 @EH EZ 48 44 92 0.0 92.0
21 oH # 38 47 85 0.0 850 711 FEH EFR 47 45 92 0.0 92.0
22 HHE EX 42 43 8 0.0 85.0 72 XKEZ RE 47 45 92 0.0 92.0
23 2fF & 4 4 8 0.0 85.0 73 Al B 46 46 92 0.0 92.0
24 T FEE 42 43 85 0.0 85.0 74 i #5 45 47 92 0.0 92.0
25 LA &3k 42 43 8 0.0 85.0 75 BrO  BA 42 50 92 0.0 92.0
26 EE E 41 45 86 0.0 86.0 76 WA HA 45 48 93 0.0 93.0
27 WA EX 43 43 86 0.0 86.0 77 BHBH F£EH 45 48 93 0.0 93.0
28 HHE HAdA 44 42 86 0.0 86.0 78 #BE ¥ 51 42 93 0.0 93.0
29 HER MT 46 40 86 0.0 86.0 79 HH BB 46 47 93 0.0 93.0
30 =H &F& 45 41 86 0.0 86.0 80 mER 2 44 49 93 0.0 93.0
31 ZHE EER 44 42 86 0.0 86.0 81 KH % 50 43 93 0.0 93.0
32 A =W 43 43 86 0.0 86.0 82 HME ZEE 42 51 93 0.0 93.0
33 WO sh 42 45 87 0.0 87.0 83 E E£7 48 46 94 0.0 94.0
34 [ =ZERER 42 45 87 0.0 87.0 84 Tl X 46 48 94 0.0 94.0
35 A & 46 41 87 0.0 87.0 85 FH EZE 47 47 94 0.0 94.0
36 db)Il #EIE 45 42 87 0.0 87.0 86 [HEF = 45 49 94 0.0 94.0
37 RE = 44 43 87 0.0 87.0 87 WT R 45 49 94 0.0 94.0
38 W EE 43 44 87 0.0 87.0 88 BH BEX 44 50 94 0.0 94.0
39 WA & 42 45 87 0.0 87.0 89 Hm —F 46 49 95 0.0 95.0
40 A BE 43 45 88 0.0 88.0 90 MAH FEH 48 47 95 0.0 95.0
41 BT Fif 40 48 88 0.0 83.0 91 HE BA 44 51 95 0.0 950
42 f&H H* 4 14 88 0.0 88.0 92 MAX K 47 48 95 0.0 95.0
43 W BF 43 45 88 0.0 88.0 93 M HiE 49 46 95 0.0 95.0
4 B EE 43 45 88 0.0 88.0 94 EH M=% 44 51 95 0.0 95.0
45 A E= 40 48 88 0.0 88.0 95 FEIL HF®IE 46 50 96 0.0 96.0
46 R = 42 47 89 0.0 89.0 96 HE EIE 51 45 96 0.0 96.0
47 RH 1EH 46 43 89 0.0 89.0 97 HEH 4% 48 48 96 0.0 96.0
48 TE Bif 40 49 89 0.0 89.0 98 HFf ZH 47 49 96 0.0 96.0
49 b X 44 45 89 0.0 89.0 99 AW WA 44 52 96 0.0 96.0
50 B HiE 46 43 89 0.0 89.0 100 H#E A 46 51 97 0.0 97.0
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NE 4L K 4 OUT IN GROSS HDCP NET Bz K4 ouT IN GROSS HDCP NET
101 FFII shE 49 48 97 0.0 97.0
102 Bi5 TEif 51 46 97 0.0 97.0
103 Kix #BX 49 48 97 0.0 97.0
104 Ri5 BH 48 50 98 0.0 98.0
105 #H ZEI 44 54 98 0.0 98.0
106 WA B 53 45 98 0.0 98.0
107 B E/N 51 47 98 0.0 98.0
108 f##E EAA 45 54 99 0.0 99.0
109 BX #= 46 53 99 0.0 99.0
110 B3 ER 49 50 99 0.0 99.0
111 |’ KX 51 49 100 0.0 100.0
112 #HE #E— 51 49 100 0.0 100.0
113 &Lk &RE 48 52 100 0.0 100.0
114 = ZE— 51 49 100 0.0 100.0
115 FI %A 49 51 100 0.0 100.0
116 RIEH MB— 47 53 100 0.0 100.0
117 4™ & 51 50 101 0.0 101.0
118 ER HA= 51 50 101 0.0 101.0
119 K¥ HE 45 56 101 0.0 101.0
120 K KE 51 50 101 0.0 101.0
121 LA HE 52 49 101 0.0 101.0
122 H&F FEIEB 46 56 102 0.0 102.0
123 #FJIl HESP 57 46 103 0.0 103.0
124 ¥y HE 56 47 103 0.0 103.0
125 18K =X 51 52 103 0.0 103.0
126 T BBEE 49 55 104 0.0 104.0
127 AR HHt 54 50 104 0.0 104.0
128 FAR 1BEE 50 54 104 0.0 104.0
129 I — 51 54 105 0.0 105.0
130 BH #z 55 51 106 0.0 106.0
131 EFR {EH 54 53 107 0.0 107.0
132 &H 21 57 50 107 0.0 107.0
133 &0 &k 53 54 107 0.0 107.0
134 S #X 50 53 108 0.0 108.0
135 PO 5hER 54 54 108 0.0 108.0
136 tHE &N 55 54 109 0.0 109.0
137 WO # 56 5 110 0.0 110.0
138 KM FlXx 51 50 110 0.0 110.0
139 3L)Il =th 56 58 114 0.0 114.0
140 W FER 54 61 115 0.0 115.0
141 A& 3k 54 62 116 0.0 116.0
142 )68 —if 65 63 128 0.0 128.0
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